1
Hg/L) ug/kg Ha/kg
0.02 0.05 20 10 30
GCIMS
97 1,000
2,000 pg/mL
ds 97

1,000 2,000 pg/mL
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200

99.999
1
GC/MS
GC/MS
1L
1 2
0 10cm
2 mm 20 3,000
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rpm

-4
0.5mL
5mL
1mL
2049
0.5 mL
10

10

1L

3,000 rpm 10

50 mL 10

208

0.5 pg/mL
10 mL/min

50 mL

0.5 pg/mL
50 mL

200 mL

20 mL

20 mL

10 mL



20 g 0.5 pg/mL 0.5mL

50 mL 10
3,000 rpm 10 200 mL
50 mL
1 10 pL 7
1.0mL GC/MS

GC/MS
GC/MS

10 mL

1,000 mL 20 g 5 10
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0 2.0pug/mL 5

5 pg/mL
GC/MS
GC/MS
(a)
50 0.2 0.3 mm
30m 0.2 0.3um 8
99.999 1 mL/min
42 cm/sec
70 (Imin)-»(30 /min)»200 - 10 /min 250
250
(b)
(ED 70 eV
230
1250
(c)
2
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20

35



m/z
1S-2 -dg 189.17 139
13 183.17 136 94 96
(@)
0 2.0pug/mL 0.5mL
0.5ug/L 0.5mL 1
10 pL 0 1.0 pg/mL
2.5 pg/mL 1 1 2 uL 3 GC/MS
15
(b)
(©)
2 XY
5
RRF: Relative Response Factor
i At
RRF = 18, AU
Ct Ais
Cis: Ct:
At Ais:
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GC/MS

1 2 uL
+5
=20

RFt x Qis(ug)

Ct(ug/l, g lkg) = ————=~
(ng /1, g 1kg) vs(l.kg)

Ct pg/L ug’kg  RFt Qis

g Vs L kg

As Qis(ug) 1
Ais  RRF  Vs(l,kg)

Ct(ug /1, ng/kg) =
Ct pg/L pHo/kg  As
Ais Qis
(H9) RRF

Vs L kg
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AC-2

AC-2
1
1
( ) Turbo Vap Turbo Vap LV
1
1 2mbL/min 1 2 /sec
0.5 1L/min 15
GC
200 1 10 pL

50
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1)

2)

3)

4)

10

2 31-35 1992

2 533-539 1992

p122-130
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5

p81-99

12

12



1L

\ 4

(10 mL/min)

1.0 mL

GC/MS
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(0.5 pg/mL

10 mL
10 mL
10 mL

20 mL

0.5 1L/min 15 min

1mL

10 uL

5mL

1%

)0.5mL



209

- (0.5 pg/mL )0.5mL
e—— 50 mL
Y
10 min

3000 rpm 10 min

«—— 20 mL

\ 4
@2 )
y
10 mL
( ) 10 mL
10 mL

v

(10 mL/min)

>
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209

— (0.5 pg/mL ) 0.5mL
le——— 50 mL
Y
10 min

3000 rpm 10 min

— 20 mL

\ 4
@ )
A
10 mL
( ) 10 mL
10 mL
Y
(10 mL/min)

>
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